
   Vanity Table Manual 



1

Product structure decomposition

1

2

2

3
4

18

18

18

2

2

2

2

2

2

14

15

16

5

6

7

8
9

13

10 11

11

12 20
27

23
30

28

25

24

29

26

22

21

31

32

33

34

35

36

17

17

17

19

x3



Hardware list

1x3 2x12 3x3 4x3

7x1 8x1

9x1

13x1 14x1

5x1

2
15x1 16x1

12x1

6x1

10x1 11x2



Hardware list

17x3 18x3 19x1 20x1

23x1 24x1

25x1

29x1 30x1

21x1

3
31x1 32x1

28x1

22x1

26x1 27x1



Hardware list

35x1 36x1

4

33x5 34x1
644x20x20mm360x20x20mm



Double-head screwdriver, use as required

5

1pcs

→

→

A Two In One Screw
(6x28mm)

B

C

D

E
F

G

H

Two In One Nut
(10x12mm)

(6x30mm)

Fixing clip & screw
(3x16mm)

Handle & screw

Non-slip pads

Wood Chipping

(4x16mm)

I

J

K

102pcs
+5pcs

102pcs
+5pcs

20pcs
+2pcs

7pcs
14pcs
+2pcs

4pcs
+2pcs

Clamp

Laminate support nail 4pcs

 Screw
(6x28mm)

18pcs
+1pcs

2pcs

3pcs

8pcs
+2pcs

Magnetic Attraction

Iron Sheet

 Screw
(3.5x12mm)

1pcs

ScrewCabinet Door Hinge &
(3.5x12mm)

4pcs
+1pcs2pcs

6pcs
+2pcs

M

N Double end connecting line 1pcs

 Accessories list

O

P

Q

1pcs

1pcs

1pcs

Countersunk head tapping
screw（4x45mm）

anti-tipping tape

Countersunk head tapping screw(4x16mm) gasket

6pcsR Protective sticker

Light bulb

L 12pcs
60pcsScrew & Guide(29cm)  (3.5x12mm)

11pcs
1pcs

S Power Socket & Screw (3x10mm) 1pcs



6

Product structure decomposition

5

6

7

8
9

13

10 11

11

12 20
27

23
30

28

25

24

29

26

22

21

31

32

33

34

35

36

19

1

2

2

3
4

18

18

18

2

2

2

2

2

2

14

15

16

17

17

17

x3



Step 1

A x4

7

Use parts ① and ②
Step1 Step2 Step3

Disassemble along the direction of "-" signUse a screwdriver to lock in the direction of the "+" sign

A
x4

1



8

Step 2

Step 3

3x1

2x2

1

1

2
2

2

2

3



Step 4

Step 5

9

x8 B

A x4

D

x1

D
x1 x2

B
x8

A
x4

x2

1

2

2
3

4 4

4



10

1

2

3Step 1 : Pull the rails apart
Step 2 : Push the nylon buckle
             outward ①

32

1

Rails Use the indicator diagram

The black part is pushed down to remove the
rails

→



11

x3

Repeat the drawer installation steps

D

x3 x6

A
x24

B
x24

Step 6
L

x4

x2

1

L

x12

x6

Step 7
L

1

1

2

2

2

2

3

3

4

4



12

A x4

A
x4

Step 9

2x2

Step 8

18

18

2
2



13

Step 11

Step 10

17x1

A x4

D

x1

D
x1 x2

A
x4

x2

18

2

2

17

14
14



14

Step 13

Step 12

L
x4

x2

1

L

x8 B

B
x8

18

18

2

2
17

17

2

2
14

14

Repeat steps 8 to 12 for the main cabinet drawer installation



15

Product structure decomposition

27

23
30

28

25

24

29

26

22

21

31

32

33

34

5

6

7

8
9

13

10 11

11

12 20

35

36

19

1

2

2

3
4

18

18

18

2

2

2

2

2

2

14

15

16

17

17

17

x3



Step 13

16

A x3

A
x3

C

x2

C
x2

Step 14
L

x 6

x 3

32

L

L

8

8



A
x1

A x1

Step 15

17

Step 16

32 x3

L

L

8

6



x3 B

B
x1

x1 B

B
x3

Step 17

18

Step 18

6

7

6

8



Step 19

19

C
x2

A
x3

Ax3

C
x2

Step 20

8

6

5



Step 21

20

Step 22

L
x 6

x 3

3 2

L

L

3 2 x3

L

5

5

L



21

Step 23
B

x3

x3 B

5

8

6



22

Step 24

Tear off release paper and stick the
black foot pad on the board

E

x4

x4 E

6

5

8



Step 25

23

Insert the board into the slot

5

6

8

9



L
x 2

x 1

32

LL

32

right

This hole is a rail fixing hole and can be installed as needed

L
x3

24

Step 26

Step 27

right

Repeat this step twice

Repeat this step twice

L

11

11



25

Step 28

Step 29

left

L
x 2

x 1

3 2

L L

3 2

This hole is a rail fixing hole and can be installed as needed

L
x3

left

Repeat this step twice

Repeat this step twice

L

11

11



26

Step 30

Step 31

L
x 2

x 1

32

L

L

L
x132

This hole is a rail fixing hole and can be installed as needed

L

12

12



27

Step 32

Step 33

L
x 2

x 1

3 2

L

L

L
x13 2

This hole is a rail fixing hole and can be installed as needed

L

13

13



A
x8

C

x8C
x8

Ax8

B
x8

x8 B

28

Step 35

Step 34

Install in the direction of the arrow

10

10

13

12

11

11



29

Step 36

Step 37
S

19

11

11

13

12

10

20

x1

S



A
x8

30

Step 38

Step 39

Ax8

C

x8

C
x8

20

13
10

19
11

1112



Picture after proper installation



31

Step 40

Step 41

x8 B

The lines go through

B
x8

As shown，When installing the drawer,
pull the guide rail out first, Slide beads are also pulled out.

20

10

20



A
x6

Ax6

32

Step 42

Step 43

If a large gap is found after installing the drawer the
slide rail can be moved up and down to adjust the gap

20

10

14

16

15



Step 44

33

F
x1

B
x6

x6 B

Step 45

F
x1

10

5
8

6

35

36



Step 46

34

F
x3

F
x3

35

36



35

Product structure decomposition

5

6

7

8
9

13

10 11

11

12 20

31

32

33

34

35

36

19

27

23
30

28

25

24

29

26

22

21

1

2

2

3
4

18

18

18

2

2

2

2

2

2

14

15

16

17

17

17

x3



A x8

A
x8Step 47

36

20



H

x1 x2

H

x1

x2

Thread the cable through the slot
before placing N panels

The metal plate of the magnetic touch
switch is mounted outwards

Step 48

37

Step 49

24

24

27



Step 50

38

A x4

A
x4Step 51

24

27

23

25



Step 52

39

Step 53

B
x4

Bx4

A
x4

A x4

25

23
24 27

25

27

23

24



40

Step 54

A x4

Step 55

A
x4

A
x2

A x2

26

22



B
x2Step 56

41

Step 57
B

x4

Bx4

Bx2
21

22

21

22

26



Step 58

42

Step 59

B
x4

Bx8

B
x8

Bx4

x6

R

R

26

21
22

23

27

24

26

25

25

23



Step 60

43

A x3

A
x3



Step 61

44

Bx3

B
x3

29



Gx6

H

Step 62

45

x6

G

H

H x4x2

H
x4x2



46

Step 63

Press the plug-in to pull out the cable

M

x1

Thread the plug through the hole

M



Remove the film before installation

47

Connect the bulb to the plug



Step 64

48

M

x11

After inserting the bulb into the
hole, glue the bulb to the board

M



Step 65

49

J
x4

J
x4



Step 66

50

28x1



Step 67

51

K
x1

K

x1

D
x1 x2Step 68

D

x1

x2

K

K

x1 x2

H

x1 x2

H



Step 69

52

K

x2

Third

Fourth

First

Second



Step 70

53

4

4

4

If a large gap is found after installing the drawer the
slide rail can be moved up and down to adjust the gap



54

Product structure decomposition

5

6

7

8
9

13

10 11

11

12 20
27

23
30

28

25

24

29

26

22

21

35

36

19

31

32

33

34

1

2

2

3
4

18

18

18

2

2

2

2

2

2

14

15

16

17

17

17

x3



Step 71

55

Step 72

Screw the screw to the concave hole

F
x5

F
x5

Screw the screw to the concave hole

F
x5

F
x5

32

33

33x5

3233

34



Step 73

F
x4

F
x4

56

Note that the foot pad at the bottom of the
iron frame 34 can be rotated and adjusted
according to the actual situation.

32

31

34



Step 74

57

N

x1

N

x1

x1

P

x1

Q

Q

P

x2

I

I



58

Step 75

Height can be adjusted under the
hardware foot to avoid imbalance

wall

O

P

O

wall

O

x1




	85006 铁导轨抽屉 主柜拆装01
	85006 铁导轨抽屉 主柜拆装02
	85006 铁导轨抽屉 主柜拆装03
	85006 铁导轨抽屉 主柜拆装04
	85006 铁导轨抽屉 主柜拆装05
	85006 铁导轨抽屉 主柜拆装06
	85006 铁导轨抽屉 主柜拆装07
	85006 铁导轨抽屉 主柜拆装08
	85006 铁导轨抽屉 主柜拆装09
	85006 铁导轨抽屉 主柜拆装10
	85006 铁导轨抽屉 主柜拆装11
	85006 铁导轨抽屉 主柜拆装12
	85006 铁导轨抽屉 主柜拆装13
	85006 铁导轨抽屉 主柜拆装14
	85006 铁导轨抽屉 主柜拆装15
	85006 铁导轨抽屉 主柜拆装16
	85006 铁导轨抽屉 主柜拆装17
	85006 铁导轨抽屉 主柜拆装18
	85006 铁导轨抽屉 主柜拆装19
	85006 铁导轨抽屉 主柜拆装20
	85006 铁导轨抽屉 主柜拆装21
	85006 铁导轨抽屉 主柜拆装22
	85006 铁导轨抽屉 主柜拆装23
	85006 铁导轨抽屉 主柜拆装24
	85006 铁导轨抽屉 主柜拆装25
	85006 铁导轨抽屉 主柜拆装26
	85006 铁导轨抽屉 主柜拆装27
	85006 铁导轨抽屉 主柜拆装28
	85006 铁导轨抽屉 主柜拆装29
	85006 铁导轨抽屉 主柜拆装30
	85006 铁导轨抽屉 主柜拆装31
	85006 铁导轨抽屉 主柜拆装32
	85006 铁导轨抽屉 主柜拆装33
	85006 铁导轨抽屉 主柜拆装34
	85006 铁导轨抽屉 主柜拆装35
	85006 铁导轨抽屉 主柜拆装36
	85006 铁导轨抽屉 主柜拆装37
	85006 铁导轨抽屉 主柜拆装38
	85006 铁导轨抽屉 主柜拆装39
	85006 铁导轨抽屉 主柜拆装40
	85006 铁导轨抽屉 主柜拆装41
	85006 铁导轨抽屉 主柜拆装42
	85006 铁导轨抽屉 主柜拆装43
	85006 铁导轨抽屉 主柜拆装44
	85006 铁导轨抽屉 主柜拆装45
	85006 铁导轨抽屉 主柜拆装46
	85006 铁导轨抽屉 主柜拆装47
	85006 铁导轨抽屉 主柜拆装48
	85006 铁导轨抽屉 主柜拆装49
	85006 铁导轨抽屉 主柜拆装50
	85006 铁导轨抽屉 主柜拆装51
	85006 铁导轨抽屉 主柜拆装52
	85006 铁导轨抽屉 主柜拆装53
	85006 铁导轨抽屉 主柜拆装54
	85006 铁导轨抽屉 主柜拆装55
	85006 铁导轨抽屉 主柜拆装56
	85006 铁导轨抽屉 主柜拆装57
	85006 铁导轨抽屉 主柜拆装58
	85006 铁导轨抽屉 主柜拆装59
	85006 铁导轨抽屉 主柜拆装60

